1.  Total crop water requirement will be more under
(a) Flat planting (b) Ridge planting
(c) Raised bed planting (d) Paired row planting

2. Horse gramis a
(a) Cereal crop (b) Aquatic weed
(c) Erosion resisting crop (d) All of these

3.  Instrument used to measure wind speed is :
(a) Anemometer (b) Lux meter (c) Plani meter (d) Wind Vane

4.  Wind vane is used to measure
(a) Direction of wind (b) Humidity
(c)  Sunshine hour (d) Wind speed

5.  Metsulfuron methyl is a
(a) Weedicide (b) Fungicide (c) Insecticide (d) Nematicide

6.  Which among the following is most destructive to crop plants ?
(a) Hailstorm (b) Fog (c) Sleet (d) Frost

7.  Khaira disease of rice can be controlled by spray of
(a) Zinc Sulphate (b) Borax
(c) Copper Sulphate (d) Manganese Sulphate

8.  Agricultural operations done from seed sowing to harvesting of the crop is known as
(a) Primary tillage (b) Secondary tillage
(c) Post-harvesting tillage (d) Minimum tillage

9.  Wheat crop is
(a) Self-pollinated (b) Cross-pollinated (¢) Anemophily (d) None of these

10. Which one of the following is not a greenhouse gas ?
(a) Carbon Dioxide (b) Methane
(c) Nitrous Oxide (d) Carbon Monoxide

11. Global warming refers to as
(a) Climate change (b) Ecological change
(c) Atmospheric change (d) None of these

12. Where the Central Potato Research Institute is situated ?
(a) Nainital (b) Cuttack (c) Shimla (d) Kanpur
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The practices of growing a series of different types of crops in the same area in sequential
manner.

(a) Mixed cropping (b)  Crop rotation
(c) Cover cropping (d) Relay cropping

Water use efficiency is highest in case of
(a) Drip Irrigation (b) Border Irrigation
(c) Flood Irrigation (d)  Sprinkler Irrigation

Why the N fertilizer applied in pulse crop at low rates ?
(a) Because they use less N

(b)  Sufficient amount of N is present in the soil

(c) They fix N in their roots

(d) None of these

Sulphur is important for which crop ?
(a) Sugarcane crop (b) Pulse crops
(c) Oil seeds crops (d) Cereal crops

Gas emitted by the rice field is
(a) Ethane (b) Methane (c) Nitrogen (d) All of these

Which one is herbicide among the following ?
(a) Pendimethalin (b) Chlorpyriphos (c¢) Carbendazim  (d) Nuvan

Organic matter in the soil can be calculated by multiplying organic carbon content with
(a) 1.72 (b) 1.82 (c) 192 (d) 2.00

In dryland agriculture, the evapotranspiration losses can be reduced by
(a) Mulches (b) Anti transpirants (¢) Wind breaks (d) All of these

Capacity of the plants to survive for long period under water stress is known as
(a) Drought resistance (b) Drought avoidance
(c) Drought escaping (d) Drought tolerance

The relative percentage of sand, silt and clay in soil is known as
(a) Soil structure (b) Soil aggregates (c) Soil texture (d) Regolith

Saline — Solic soils are formed as the result of process of
(a) Salinization (b) Alkalization
(c) Salinization & Alkalization (d) Desalinization
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Red and Yellow colours in a soil horizon usually indicate
(a) A high percentage of sand (b) A high percentage of lime & gypsum
(c) Oxidation of iron in the soil (d) Low organic matter content

Which one is a salt tolerant crop ?
(a) Cowpea (b) Pea (c) Sugarbeet (d) Muskmelon

Micro nutrient which is important in transport of sugar, synthesis of enzymes and cell
division is :
(a) Phosphorous (b) Boron (c) Potassium (d)  Sulphur

Multching is a measure to reduce evaporation loss. It provides the following benefits :
(a) Reduces velocity of runoff water (b)  Suppresses weed growth
(c) Improves microbial activities (d) All of these

Which clay mineral is responsible for cracking in black soil ?
(a) Kaolinite (b) Illite (c) Vermiculite (d) Montmorillonite

Nitrification is affected by C/N ratio of organic residues which prevents the release of
(a) Nitrogen (b) Carbon dioxide (c) Ammonia (d) None of these

Unit of Cation exchange capacity is
(a@) m.mhos/cm (b) centi mole/kg of soil

(c) m.eq/1000 gm of soil (d) t/ha

At what pH level phosphorous availability will be more for plants ?

(a) 55-65 (by 7.5-85 (c) 85-95 (d 65-75
One bag of 50 kg urea contains kg of nitrogen.
(a) 207 (b) 23.0 (c) 46.0 (d) 40.0

In which situations, Gypsum can be used to reclaim sodic soils ?
(a) Arid ecosystem (b) Rainfed conditions
(c) Irrigated conditions (d) All of these

Central Soil Salinity Research Institute (CSSRI) is located at
(a) Jodhpur (b) Hyderabad (c) Karnal (d) Dehradun
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45.

Red colour of red soil is due to
(a) Wide diffusion of iron (Fe) (b) High content of copper (Cu)
(c) High content of nitrogen (N) (d) High content of potash (K)

Rhizobium japonicun species is used for seed treatment in
(a) Peas (b) Pigeon pea (¢) Soybean (d)  Chick pea

Which of the following is a micronutrient for plants ?
(a)  Sulphur (b) Zinc (¢) Calcium (d) Phosphorous

Which of the following is used as Biofertilizer ?
(@) Rhizobium (b) Blue Green algae (c) Azola (d) All of these

The scientific study of soil is
(a) Earth Science (b) Pedology (¢) Soil Science (d)  Soil Chemistry

The most productive type of soil in India is
(a) Calcareous (b) Alluvial (c) Redsoil (d) Black soil

Which form of nitrogen is available in Urea ?
(@) Ammonical (b) Amide (c) Nitrite (d) Nitrate

The complex mixture of brown amorphous and colloidal substance synthesized by soil
organisms is referred to as

(a) Compost (by FYM (c) Vermicompost (d) Humus

Soil of 5.0 pH value indicates
(a) Acidicsoil (b) Alkaline soil (¢) Neutral soil (d) None of these

Azotobacter and Rhizobium bacteria are
(a) Plant pathogens (b)  Antibiotic producer
(c) Nitrogen fixer (d) None of these

The bulk density of soil is the ratio of
(a) Dry weight of soil : Volume of soil  (b) Volume of soil : Dry weight of soil
(c) Wet weight of soil : Volume of soil (d) None of these
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Which material is used to reclaim sodic soils ?
(a) Gypsum (b)  Sulphur (c) Pyrites (d) Limestone

In which form the leaching losses of N is higher ?

(a) Nitrate (b) Nitrogen (c) Water solution (d) Ammonia
The deficiency of which of the following causes poor plant growth and chloritic leaves ?
(a) Potassium (b)  Sulphur (c) Phosphorous (d) Magnesium

The water holding capacity of different types of soils decreases in the order :
(a) Clay > Silt> Sand (b) Silt > Sand > Clay
(c) Clay > Sand > Silt (d) Sand > Silt > Clay

Which form of water is easily available to plants ?
(a) Hygroscopic water (b) Capillary water
(c) Gravitational water (d) All of these

The error degree of freedom for a RBD experiments with 5 treatments and 3 replications
would be

(a) 15 (b) 12 ) 8 d) 14

Analysis of variance (ANOVA) utilizes which of the following test ?
(a) F—test (b) x%—test (c) Ztest (d) Ttest

A distribution is said to be symmetrical if the values are uniformly distributed around the
(a) Mean (b) Mode (c) Median (d) Mean deviation

Which one of the following is obtained by dividing the sum of squares by the
corresponding degrees of freedom ?

(a) Co-variance (b) Standard deviation
(c) Variance or mean sum of squares (d) None of these

Which one of the following formulae is used to calculate the Co-efficient of Variation
(C.V)?

S.D. Mean deviation

(a) C.V.= Mean > 100 (b) C.V.= Mean x 100
Mean deviati

(c) CV.= can seviaion (d) None of these

Mean
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To compare the two means from independent samples, which test is applicable ?
(a) F—test (b) t—test (c) z—test (d) Chi - square test

Which of the following is not a characteristic of normal distribution ?
(a) It is symmetrical distribution. (b) The mean is always zero.
(c) The mean, median and mode are equal. (d) It is a bell shaped distribution.

The co-efficient of correlation is the

(a) Square of the co-efficient of determination

(b) Square root of the co-efficient of determination
(c) Same as the r-square

(d) It can never be negative

If the data contains an extreme value, the suitable average is :
(a) Mean (b) Median
(c) Weighted mean (d) Geometric mean

The square of Standard Deviation (SD) is known as the
(a) Variance (b) Standard Deviation
(c) Mean deviation (d) Co-efficient of variance

The hypothesis of no difference is known as
(a) Simple hypothesis (b) Null hypothesis
(c) Complete hypothesis (d) Alternative hypothesis

Analysis of Variance (ANOVA) technique was developed by
(a) R.A.Fisher (b) Karl (c) Moivre (d) Mather & Jinks

Repeated application of treatments is known as
(a) Replication (b) Randomization (c¢) Local control  (d) Error

The simplest measure of dispersion is
(a) Mean deviation (b) Range
(c) Standard deviation (d) Coefficient of variation

One complete set of chromosomes inherited as a unit from one parent is known as
(a) Genotype (b) Genome (¢) Gene pool (d) Karyotype

An association during inheritance of a character with the sex of the progeny is called
(a) Sexlinkage (b) Inbreeding (c) Heterosis (d) Hybridization

The sudden heritable changes in the characters of organisms are called as
(a) Mutants (b) Mutation (c) Mutant allele (d) Segregation
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Synthetic and composite varieties are developed in
(a) Self pollinated species

(b)  Cross pollinated species

(c) Asexually propagated species

(d) Self-pollinated and cross pollinated species

ISTA stands for
(a) International Seed Testing Association
(b) International Soil Testing Association

(c) International Sucrose Testing Association
(d) None of these

International Institute of Tropical Agriculture is located at
(a) Mexico (b) Nigeria (c) Syria (d) Columbia

Linkage results in

(a) Formation of more dominant phenotype
(b) Formation of more wild type phenotype
(c) Formation of more parental phenotype

(d) Formation of more recombinant phenotype

Genetic male sterility is controlled by

(a) Allelic genes (b) Non-allelic genes

(c) Nuclear genes (d) All of these

Lac Operon is :

(a) Repressible system (b) Inducible system

(c) Five structural genes control it (d) Controlled by regular gene

Seeds which are dried at low moisture content and stored at low temperature without
loosing their viability are :

(a) Recalcitrant seeds (b) Active seeds

(c) Orthodox seeds (d) Certified seeds

Point mutation takes place in a cell at

(a) Nucleus (b) Chromosome (c¢) Centromere (d) Gene
Selection of plants with superior phenotype for further propagation is done in
(a) Mass selection (b) Pedigree selection

(c) Introduction (d) Hybridization

Father of global Green Revolution is
(a) Dr. Norman E. Borlang (b) Dr. M.S. Swaminathan
(c) Dr.G.S. Khush (d) Dr.S.K. Vasal
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India was the first country to develop a hybrid variety in
(a) Rice (b) Maize (c) Cotton (d) Tomato

A hybrid is always
(a) Heterozygous (b) Homozygous
(c) Both (a) and (b) (d) None of these

Polyploidy can be induced with the help of
(a) Gibberellins (b) Colchicine (¢) Kinetin (d) TAA

Currently, the most common method for the crop improvement is
(a) Introduction of germplasm (b) Selection
(c) Hybridization (d) Mutation breeding

Recurrent selection is mostly used in
(a) Cross pollinated crops (b) Self pollinated crops
(c) Vegetatively propagated crops (d) Apomictic crop plants

Characters which are governed by more than 2 to 3 minor genes are :
(a) Quantitative characters (b)  Characters with cumulative gene effects

(c) Mostly they are agronomic traits (d) All of these

In general, transgressive segregants are observed in :
(a) F, generation (b) F, generation (c¢) F;generation (d) F, generation

Single cross hybrids are developed by crossing

(a) Two open pollinated varieties (b) Two inbreds

(c) Inbred and variety (d) Hybrid and variety

Removal of immature stamens from female parent during hybridization is called
(a) Pre-pollination (b)  Pre-hybridization

(c) Preparation (d) Emasculation

Removal of immature male part from maize plant is called
(a) Emasculation (b) Detasseling (c) Desilking (d) None of these

In case of interspecific hybridization, crosses are made between members of
(a) A variety and A species (b) Between two open pollinated varieties
(c) Between two species (d) A hybrid and A species
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78. WA i H BEe H Tont fort forspfid ot arer faga § ugart ewr ot 7

(a) =TEe (b) R (c) U™ (d) THT
79. T Gt fope Hed B &
(a) BUSTETH (fersmgmsii) (b) BN (THYHST)
(c) THi (a) e (b) (d) Y HETE
80. =1 1 O forgeh 3T ¥ Tieiieca el ST ST 8 7
(a) Toerfe= (b) T (c) hIgATeH (d) 3IME.T.T.
81. Iqu § f= 4 @ &9 = i woet 3= § =419 T W Y= H o8 ST @ e 7
(a) G S FHET (b) = fafy
(c) HH farfr (d) SeafEdd o faf
82. 3Tardeh =4 forfer sty TG e 1 9 forad feram St @ 2
(a) IR HHA (b) TR BEe
(c) daefaes fafer & g weet (d) udIfufes wHet
83. U™ U SH oh 2 1 3 | 31fereh gew wwrE Tt SfiF @ b g g -
(a) HTATCHS 0T (b)  E=Rft S grEl 7o
(c) HHRIA: I (IUST) el 701 (d) Tgad
84. TWIIG: CrEfYe Safiied fr it o R I 8
(a) F, didl (b) F,didl (c) F,didl (d) F,did

85. Tomrer shra wsfere o foepm fomferfiga o gehor <6 gro fepan ST 2
(a) ol T aTett 2 ferei o &= (b) TIZsIgd & o
(c) soeafrm&dig (d) TR form 9 yerfera fobm < o=

86. WW(Stamens)ﬁﬂTﬂ‘t—d(ﬁ?)ﬁﬁwﬁﬁﬁmﬁﬁﬁmﬁ%fﬁq
ST Bl &, had & :
(a) S-Tmmor (b) H-HHT (c) I (d) SHEporEA

87. ek oh TUNTS T W <l BT S hl had B :
(a) HEEA  (b) SreEfem (c) Sifafes (d) 3P TE

88. STASTICT TehiUl H Heh{Ul ol T3 111 €1 & &g THT BT &
(a) T TSI 3R Teh TS (b) T ol T aTett fehed
(c) < IEH (JaTha) = o= (d) T TR fore 3TR U TS
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89.

90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

100.

Seed that is changed every year for sowing is called
(a) Breeder seed (b) Hybrid seed
(c) Foundation seed (d) Certified seed

The concept of pureline was proposed in 1903 by
(a) Vilmorin (b) Johannsen (c) Hallet (d) Cooper

Rice and Wheat each have the following number of stamens in their floret
(@) 3and3 (b) 4and3 (c) 6and3 (d 3and6

An example of alleles is :
(@) ABandTt (b) TTand Tt (c) Tandt (d) XandY

Homozygosity and heterozygosity of an individual can be determined by
(a) Backcross (b) Selfpollination (c) Test cross (d) All of these

The Central Dogma is a framework for understanding the flow of genetic information
during

(a) Replication of DNA (b) Protein synthesis

(c) Reproduction (d) None of these

Which is incorrect about the nature of genetic code ?
(a) Codons are Universal. (b) Codons are Overlapping.
(c) Codons are Commaless. (d) Codons are Triplet.

The nucleic acid synthesis takes place in
(a) 3'—5'direction (b) 5'—3'"direction
(c) Both ways (d) Any direction

Removal of off types or dissimilar plants from seed plot is called

(a) Roguing (b) Weeding (¢) Culling (d) Selection
The genetic purity in commercial seed production is often maintained by

(a) Seed certification (b) Seed processing

(c) Seed conditioning (d) Seed priming

The genetic purity of seed lot is assessed by
(a) Viability test (b) Vigour test
(c) Grow out test (d) Germination test

Which of the following will be affected first under water stress condition ?
(a) Cell division and enlargement (b) Photosynthesis
(c) Transpiration (d) Protein synthesis
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89. 311 7q o offS ! Jish Iy SgeT dedT & -

(a) TSHSH SN (b) TR (c) IMER & (d) ST &S
90. oY 1903 H ‘SR AT’ shl HehoUT fehdeh gRI < T 7

(a) foemife (b) SEEA (c) & (d) |W
91. <TEE AT g B o Teh Hod H 7 T H JehaR IR AT & -

(a) 33MW3 (b) 43W3 (c) 633 (d) 33W6
92. 1= 8 9 %1 Telict 1 e B ?

(a) AB3RTt (b) TT 3Tt (c) T3t d) X3IRY
93. BHSTEMIYHS T geUSsmad! o1 e e o & form fafr a fp s aspar 2 2

(a) Smw@Efafr (b) T@wEm () =wmmfatyr (4 o
94. Tz e fe § 9§ form wfshan o STafTes g1 % S7Ta i THeH % fau glen 2 -

(a) ..U, fiferhem (b) A frafam

(c) IFF (d) 3T BETE
95. ek F U HaRATTIT I aT T T B ?

(a) HISH I8 B R | (b) IS ITERATHT BT B |

(c) HISH HHH BT 2 | (d) SEEfTwREA? |

96. =feeteh 31t <h1 fmior fopm fem & Bran 2 -
(a 3-5famd (b) 5-3fend () IWHeHifemdd) fordoft feamd

97. T YT ¥ (9T ThR) 31T 18T qAUT STHATT Nl bl 918 (Tt <hl UTshaT ohl had &
(a) U (3Em®A)(b) @EAEAR FREw () et (d) ==

98. TUTISeh sfiS Icre | il ot STa Tk gt ura: T farfyr & giafeea o St 2 -
(a) S yETfieR (b) & fagra (c) AT (d) i s

99. it 1 ST IFAT T oo = ol agran e
(a) SAAETIAT Tl (b) 3 qhier
(c) T 313 weao (d) ST weor

100. 57t <l st <hl a3 | = O @ i o uishan aed qge vaifad grft ¢
(a) IR T e faem (b)  TRIII-HITOT
(c) WG (d) SR Ty
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101.

102.

103.

104.

10S.

106.

107.

108.

109.

110.

111.

112.

Pungency in mustard oil is caused by the presence of
(@) Aminoacid (b) Erucic acid (¢) Glucosinolates (d) Malic acid

Kranz anatomy is one of the characteristics of the leaves of :
(a) Potato (b) Wheat (c) Sugarcane (d) Mustard

Which of the following is a day neutral plant ?
(a) Tomato (b) Cotton (¢) Sunflower (d) All of these

The stomata are closed during the day time in
(a) C,plants (b) C;plants (c) CAM plants (d) C,and CAM plants

The response of plants to day length is known as

(a) Thermoperiodism (b) Photoperiodism
(c) Vernalization (d) None of these
The rate of growth of crop per unit area per unit time is known as
(a) C.G.R. (b) R.G.R.

(c) N.AR. (d) Absolute Growth Rate (A.G.R.)

Plant food manufactured by the process of photosynthesis in the presence of a nutrient
(element) in chlorophyll is :

(a) Calcium (b) Magnesium (c) Iron (d) Boron

During germination radicle and plumule develop from
(a) Embryo (b) Endosperm (c) Hilum (d) Seed coat

Instrument for measuring the humidity is
(a) Hygrometer (b) Anemometer (c) Pluriometer (d) Manometer

Which type of energy is wind energy ?
(a) Renewable energy (b) Non-renewable energy
(c) Conventional energy (d) Commercial energy

Chlorosis of leaves indicates
(a) Death of leaf tissues (b) Yellowing of leaf tissues
(c) Yellow patches formed on leaves (d) Puckering of leaf

The first carbondioxide acceptor in C, plants is :
(a) Phosphoenol — Pyruvate (b) Ribulose — 1, 5 — diphosphate
(c) Ogxaloacetic acid (d) Phosphoglyceric acid
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101. TE & 9 H @A (T-41) i I8 2 :
(a) UM (b) Toh 30 (c) THMEEARE (d) it 3

102. she1 3Tt 7 o o formeh) afert =61 weh fafyre @eor 2 -

(a) AT (b) TE () TN (d) T
103. =19 @ %19 =1 feag foywreh dean g 7
(a) THX (b) U (c) HogEt (d) e

104. A s o T a s cudead @ ?
(a) C,dH (b) C,dH (c) CAMTE (d) C,du CAM UIg

105. &1 o om bt 3rafr 9 diei W g STl I9TE 1 ST had & ?
(a) aAUHIfAd (b)) <ifeaemtiorar (c) SEATRI (d) 3T A HIE TEI

106. FHA h ghg hi G I TS &, T IS THI § &H Rl RTHad 8 7

(a) #WSMAT. (b)) ISR, (c) TAUAR. (d) TSH3R.
107. A% | Uk awal ol 3ufeafd # Jerrer-gversor <t afsra g ffera arey wiem 2

(a) hicyrm (b) TRfEm (c) 3IE (d) «RH
108. 37T < G Aot (eeher) qem St o1 YuT (wgel) T o o fopmd forepfoa grar 8 2

(a) YO (b) TerH (c) EEaH (d) SR
109. ST AU 77 2 -

(a) ST (b) THERfE (c) Nt (d) BT
110. Te-Hol1 fohd T hl Holl & ?

(a)  Teftentofi Sl (b) TRl FHall
(c) UG St (d) aTfuTfses et

111. 9 o seited fe o 9 for aefifa a2 7
(a) i % el i T (b) TRt o ekl w1 AT BT
(c) ufaai o el T1 1 49 &= (d) Ol ST TR

112. C, Wi H U8 e SEIATFATS Tehell & :
(a) HIHEAT — UTSeae (b) TEIAN-1, 5-SEHERS
(c) Tarletl-ufyfes Tfae (d) wrERferaies e
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113.

114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

Apical dominance in plants is caused by

(a) Abscisic acid in lateral bud (b) Cytokinin in leaf trip

(c) Gibberellin in lateral bud (d) Auxin in shoot tip

Download movement of synthesized carbohydrate in leaves occurs through

(a) Phloem (b) Xylem (c) Mesophyll (d) Chloroplast
Opening and closing of stomata in plants depends on

(a)  Sunlight (b) Transpiration

(c) Water pressure (d) Temperature

Enzymes are :

(a) Protein (b) Catalyst

(c) Thermosensitive (d) All of these

Fruit fly belongs to order

(a) Orthoptera  (b) Diptera (c) Isoptera (d) Hemiptera
Tricho cards are effective for the control of

(a) Termites (b) Podborer (c) Grasshopper (d) Cut worms
What colour honey bees cannot see ?

(@) Red (b) Blue (c) Green (d) Yellow
Shoot gall psylla is a major insect of :

(a) Onion (b) Garlic (c) Mango (d) Guava
Fall army worm is a major insect of :

(a) Wheat (b) Sugarcane (¢) Rice (d) Maize
Which one is a beneficial insect ?

(a) Helicoverma (b) Lady bird beetle (¢c) Grasshopper (d) All of these

The dark yellow triangle on insecticide container indicates

(a) Highly poisonous (b) Poisonous

(c) Medium poisonous (d) Less poisonous
The best method to control stored grain pest is

(a) Mechanical method (b)  Contact insecticide

(c) Fumigation (d) Biological agent
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113. 9igi ¥ Rrer-wae i forg wru & 7
(a) UTYd shefl § UsHiHeh 317 (b) Oft % 3T 9T W ETgeIhIEA
(c) U ot 7 foesrfeH wftre (d) 3 foud srifeem

114. ufe=i o Byaiiva SEiagee fohaes gy fi9 6 aiw S g 2
(a) AR (b) ST (c) WG (d) FARRL

115, WIHeT (TH) 1 G 37 a g1 fohd W R swear 2 7
(a) FFHRUTA (b)) TSI (c) U I cad (d) dmEE

116. 3=3vy (Tervarer) B4 &

(a) WA (b) IHH (c) daETeeTsid (d) Jgaeft
117. % Dch Ao forg ot § 3l @ 2

(a) 3T (b) Tewe (c) 3TMET (d) wHiweT
118. “grgeh] 1S’ fere <hic 3 Forafaror & Tormeli B 2

(a) G (b) el S (0 fege (d) hear gudl
119. wymfRgat fohe T1 1 T8 T@ Fehell ?

(a) oA (b) e (c) B (d) dier

120. Ut hle (Y2 e A5l Fohd Ot HIIq@ HR 7 ?
(a) & (b) <TEgd (c) ™ (d) 3Imeq

121. e 311 9 forg oA FI g e B ?
@ g (b) T (c) oM™ (d) R

122. 38 i 91 A9 $ie 8 ?

(a) efctpiamt (b) TF UG (ISt € wfiea)
() fege d) TEEd
123. hieamsht & feea 9 el diet T <1 Brentor = ewiian 8 ¢
(a) 3Tcaferes SEden (b) Eden
(c) wem SEden (d) =W SEden

124. WIS 3 b1 o e & fo 4o sr=s1 qiem e g 7
(a) AR AR (b) HICF hIART (c) TIFAH (d) Sferes o
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125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

13S.

The highest pesticide is used in
(a) Rice (b) Wheat (c) Maize (d) Cotton

Pheromone traps are used to attract
(a) Female moths (b) Male moths (c) Caterpillar (d) Female bugs

Larva of butterfly is called
(a) Grub (b) Maggot (c) Catterpillar (d) Adult

Honeybee belongs to the order :
(a) Homoptera (b) Diptera (c) Hymenoptera (d) Lepidoptera

In the World which species of honeybee is most widely distributed and commercially
reared ?

(a) Apisdorsata (b) Apis cerana (c) Apis florea (d) Apis mellifera

WP stands for
(a) Wettable paste (b) Water soluble powder
(c) Water paste (d) Wettable powder

Which is the vector of phyllody disease ?
(a) White fly (b) Mites (c) Thrips (d) Jassid

What is the unit of LD50 ?

(a) mg of chemical / gram of test animal body weight
(b) mg of chemical / kg of test animal weight

(c) kg ofchemical / gram of animal weight

(d) Gram of chemical / Gram of body weight of animal

The use of legislative restriction to control transboundary movement of insect — pests is
known as

(a) Plant protection (b) Plant law
(c) Plant enclosure (d) Plant quarantine

Piercing and sucking type of mouth parts are found in
(a) Grasshopper (b) Thrips (c) Honey bee (d) Aphids

The chief excretory organ in insect is :
(a) Malphighian tubules (b)  Green gland
(c) Cuticle (d) Fatbody
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125. G 311k ShiATeN 1 SR 2T &

(a) 9=H (b) TEH (c) WFRH (d) HUEH
126. HRHM 39 ferEes fore s@m grar g 2

(a) WEIYET  (b) TIEm (c) Hrel (d) wTETE
127. Toaeh = et (féve) waemar s :

(@) 7 (b) e © F=& (d) ==

128. HYHE! oR® 71U (order) ® HEfra 8 :
(a) EHIT (b) femem (c) ETEHAMT (d) wfrEme

129. Tova ® weHaet &1 b T IS SATETaX TRft STt 2 3TR SATe1Reh 9Tei foham ST & -
(a) UHESREIT (b) UUEHE (c) UHEwArEn  (d) UfUE Helfiha

130. S5, fi. (WP) ST A 1 8 7

(a) Tersie T (b) Ol & i =0
() uH I (d) gerriier <ol
131. ®IEcie! foqrl 1 9@ B -
(a) TheUHRE  (b) TIEE (c) fu= d) s

132. LD50 sl 31 T B 7
(a) .37, TR /3 O3] SR 1 o 779 |
(b) T, R /e 3] YRR %1 9o fob.am. |
(c) To.7m. WA /3% USSR 1 a9 U |
(d) T TR /3% U] IR 1 a9 I |

133. T < § G S o o<l hiel I gTeRt Sal o e W e 7q ffia derfres faen =
Wﬁ%
OERICIEIRE] (b) O T BT
(c) TATE gl (derm shl Eier=l) (d) e TR (Fry qe)

134. e 3R I8 TR & Yg fopdt e § wrn [ g 2

(a) UTHEW (b) T (c) wYHG (d) ufthew
135. ISl & 3cds S & -

(a) HTAGITERA Afctehr (b) WU

(c) WHfehe (d) =8 IR
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136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

147.

The killing of pupae of silkworm in the cocoons is called
(a) Mounting (b) Stifling (c) Reeling (d) Curing

Which environmental factor of the following plays maximum role in disease development ?
(a) Wind (b) Temperature (c) Cold (d) Humidity

What is vertical resistance in disease control ?
(a) Resistance governed by minor genes (b) Resistance governed by major genes
(c) Durable resistance (d) All of these

Which one of the following is quarantine disease in case of wheat ?
(@) Loosesmut (b) Rust (c) Ergot (d) Karnal bunt

Seed treatment with vitavax mainly controls
(a) Loose smut (b) Rust
(c) Downy mildew (d) Powdery mildew

The progress of disease in the plant population is determined by
(a) Host (b) Pathogen (c) Environment (d) All of these

The causal organism of early blight of potato is :
(a) Phytopthera infestans (b) Alternaria solani

(c) Pyricularia grisea (d) None of these

Which country suffered severe famine due to late blight of potato ?

(a) [Ireland (b) Namibia (c) New Zealand (d) Nigeria
‘Ug 99’ is a disease of

(a) Rice (b) Wheat (c) Maize (d) Cotton
White rust is an important fungal disease of which crop ?

(a) Cotton (b) Mustard (c) Wheat (d) Rice

Yellow Vein Mosaic is a serious disease of which crop ?
(a) Brinjal (b) Okra (c) Pea (d) Cabbage

Khaira disease of rice is due to the deficiency of :
(a) Molybdenum (b) Zinc (c) Calcium (d) Magnesium
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136. Ik B WWHAIC % @[T h1 A 1 11 hegl ST 8 7
(a) Hfe (b) feewfem (c) dfem (d)

137. =1 6 | %19 SrareRefia ek dei 1§ I foehre § qatfiren e w@ar g ¢
(a) & (b) dTHH (c) TS (d) 3IAgar

138. U frer 1 3eaier (afdewet) ufeias eman g -
(a) G&w S o gr faurfed wfedie (b) & A % gr afaqurfea wfate
(c) TuTg gferiy (d) Tgaft

139, For 2 @ 0 o Forrdl 7 % o e 8 7
(a) TAHIGAT (b) TG (©) e (d) FEE T

140. dierEsd gr i SU=R 4ed ¥4 ¥ forg U 1 Fefa s g 2

(a) GeNmwugal (b) TG (c) oo firegy (Fof)(d)  whg oot
141, G bl g 1 T <hi wrie ferdreh gr ffvad ShI St 8 2

(a) B (M)  (b) WSS (c) dTdTeRY (d) JEaf
142. 3] <1 AT gpera U e wihe g & 8 7

(a) RIS $HhEH (b) et G

(c) urgligpeitean wfifern (d) 308 HE T
143. 37Tc] oh! Te5dl ST o6 HRVT fohd <31 | W07 371 T ?

(a) IS (b) AmfiferEn (c) Sitets (d) it
144. ‘Ug 99’ femrd o o & foped onmeht @ 7

(a) oW (b) T (c) Hah (d) U=

145. Tthe fireft T forg woret <hY wewaqul Bk a2 7
(a) HUE (b) T c) & (d) =mEd

146. I SH A1 fohH HEe hl Teh T fommi 2 7
(a) S (b) Tt (c) HX (d) e

147. I9A § A et WU A fopE e <hl ) o HROTEAT 8 7
(a) WTCieeTH (b) & (c) Hicyrm (d) AfREm
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148.

149.

150.

151.

152.

153.

154.

158S.

156.

157.

The cause of Great Bengal Famine in 1942 — 43 was due to :
(a) Rice brown spot disease (b) Rice blast disease
(c)  Sheath blight disease (d) Wheat rust disease

Father of Plant Pathology is
(a) Lebig (b) Anton De Berry (¢) Auguste (d) Berg

Loose smut of wheat is
(a) Internally seed borne (b) Externally seed borne

(c) Both(a) & (b) (d) None of these

Paddy Tungro virus spreads by

(a) Nephotettix virescens (b) Graminella nigrifrons
(c) Bemesia tabaci (d) Thrips tabaci

Chaubattia paste is a mixture of

(a) Copper Carbonate + Red lead + Linseed oil
(b) Copper Sulphate + Lime + Water

(c) Copper Sulphate + Sodium carbonate + Water
(d) None of these

Which disease is related to wheat crop ?
(a) Green ear (b) Rust (c) Tikka (d) Khaira

Leaf curl virus disease of solanaceous crop spreads by
(a) Wind (b) Plants of other varieties

(c) Mechanical damage (d)  Sucking pests

The terms ‘Verticle’ and ‘Horizontal’ resistance were coined by :

(a) Johannsen (b) Hugo de Vries

(c) Vander Plank (d) Mather

‘Gene for gene’ hypothesis was postulated by

(a) Vander Plank (b) Flor (c) Jinks (d) Darwin

A set of rules that govern overall data communication system is popularly known as :

(a) Protocol (b) Agreement (c) Pact (d) Memorandum
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148. T2 SIS 31T (1942-43) T HRT o7 :
(a) 9T H HaTe e e (T gea) fomm
(b) O T o aTeft e form

(c) MY scmge fommdt

(d) g T hUGST U
149. 9TET T fo3i o S & -

(a) ofifem (b) TTRFE (c) 3T (d) s
150. T <1 GAT gl T & -

(a) 3Tieh ST~ (b) TR ST~

(c) G (a) T (b) (d) T & HS T
151, o & g fersroy fopeeh g hetar @ 2

(a) wicfedd fora= (b) Afeeen ArEfiveT=

(c) fafurferm amme (d)  forem eamme

152. =efean v 378 | fhmeht fysmr g 2
(a) HRBPEME + HP + AT B dA  (b) IR HWhe + T + T
(c) IR Hehe + Afeaq FEME + T (d) &0 A HIS T8I

153. 9 |1 U 7 6l Bl & Fraferd g 7

(@ ®lw Rl (b)) T (W) (c) fewm 4 @
154, TICHE! $A ! HHAT H T Gea {10 T HeAdl & -

(a) TaTH (b) 3= foremi < T &

(c) FTTreh JohE™ & d) WITHHEY

155. dfdhet’ qUT “BIS=eet’ Ufalier Sreal <! ferds S femamm 7
(a) SEEATA (b)) TNCAEFU (¢) TR @=hgl  (d) HWGM

156. S ®R S gEAiSfeE (Seshean) e & foraes gr < et 2
(a) I =D (b)) TR (c) TSem (d) sifed

157. THY 3MYR M SR YoTTedt sl =01 ot arel fm ot fohe STiesli &9 4 ST Sman g 7
(a) TR (b) THSAT (c) @t (d) THR-sH
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158. Average Fixed Cost (AFC) is defined as
(a) Change in total cost divided by output
(b) Total fixed cost divided by change in output
(c) Total fixed cost divided by output
(d) None of these

159. Formula for Percentage Equity (PE) is
_ Borrowed Capital
@)  PE(%) =G5 0ed Capital + Borrowed Capital
_ Owned Capital
)= Owned Capital + Borrowed Capital
B Fixed Capital
©  PEC%) = Birowed Capital + Fixed Capital
(d) None of these

(b) PE(%

160. The money invested in making machinery tools etc. to help labourers in production process

is known as
(a) Specific capital (b) Fixed capital
(c) Auxillary capital (d) Internal capital
161. Law of variable proportions is also known as
(a) Law of farm management (b) Law of economic management of farm
(c) Law of diminishing return (d) Law of factor product relationship

162. Changing different prices to different consumers for same product is called
(a) Price variation (b)  Price discrimination
(c) Price maximization (d) None of these

163. Basic objectives of IRDP are
(a) Food security and health safety in rural area
(b) Indian Road Development Programme for rural area
(c) Eliminating poverty & unemployment in rural area
(d) None of these

164. Which of the following is not the method of valuation ?
(a) Net selling price (b) Market price
(c) Income capitalization (d) None of these

165. Which is not the objective of community project ?
(a) Increasing agricultural production  (b) Increasing economic development
(c) Increasing adult education (d) Settlement of displaced people

166. India’s rank in a rice production in the world is :
(a) First (b) Second (c) Third (d) Fourth
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158. 37Ed TUTE AW ol = &9 o afenya fopam s g -
(a) A AT H SCeATd 1 Pel IcUTE bl T+
(b) Tt TATE AT B FEATE T FoA ITUTG T T
(c) el TATE TATNTA 1 Pl ICUTG hT TEEH

(d) 39 A HE T
159. SfceTd sfehd! h1 g & -
JUT e ST &
(@) FF%) = ey om + 3um o (b)  FHIC) = 1y o + vum o

L2IRIRE ] , .
(©) W(%):3WW+WW (d) gﬁﬁaﬁéqﬁ

160. =T TR ISR T T Topam =T &9 ST IcTe Afsham T SifHehl bl Hee shid o 1T oTE S1d &,

FEAME -

(a) ToRmEd (b)) RIS (c) AT YSt  (d) SATiEh doll
161. fafi= BEPTPﬁ (Variable Proportions) = frem =1 T o} ST AT B

(a) M YEEE (b) T T AT Jawer

(c) 3cafd g =1 fm (d) IR qra-y 1 =M

162. 3T - 3T STHIEIT i Teh HH T%] 3l ST -3 Yo HeaTdl &
(a) HEAT=<H (b) T WeWE (c) TcH BT (d) 399 & IS TR

163. IE.IRAH. F I LW 2 :
(a)  TITHIOT &3 ey TR U e FHa
(b) T & H Tk T AT
(c) TITEIOT &l H T AT SUSTTRY Gt
(d) FTHIABE

164. $TH ¥ SIF 1 YT I T 131 & 2
(a) WgTERiged (b) SR (c) st g (d) T T HE TE

165. =1 8 @ B |1 gl Ao T S TE E 2
(a) oY 3ITE 1 gl (b) aTfies foemma  gfg
(c) Tie fendafg (d)  Terzentua T T T

166. To9d § =Tact ST H WRA HT T 2 -
(a) oM (b) Tgd (c) qa™ (d) =qd
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167.

168.

169.

170.

171.

172.

173.

174.

175.

176.

Under the Integrated Rural Development Programme (IRDP), the basic unit is
(a) District (b) Community Development Block
(c) Village (d) Family

Who fixes Minimum Support Price (MSP) for agricultural crops ?
(a) Finance Ministry

(b) Ministry of Agriculture & Farmers Welfare

(c) Commission for Agriculture Costs & Prices

(d) Agriculture Product Commission

Small farmers are those whose land holdings are :
(a) Between one and two hectares (b) Between one and ten hectares
(c) Between one and five hectares (d) Between two and ten hectares

Which is the first state in India having given the status of industry to agriculture ?
(a) Punjab (b) Tamil Nadu (c) Maharashtra (d) Haryana

International Rice Research Institute (IRRI) is situated in
(a) Lebanon (b) Cambodia (c) Philippines (d) China

A crop variety can be registered by

(a) National Biodiversity Authority, GOI

(b) National Bureau of Plant Genetic Resources

(c) Protection of Plant Variety & Farmers Right Authority, Govt. of India
(d) Central Variety Release Committee

The first Agricultural University in India was established at Pantnagar in the year
(a) 1950 (b) 1960 (c) 1965 (d) 1970

The first Director General of ICAR was
(a) Dr. R.S. Paroda (b) Dr. M.S. Swaminathan
(c) Dr.B.P. Pal (d) Dr. B. Vishwanath

CIMMYT (International Centre for Maize and Wheat Improvement) is situated in
(a) Canada (b) Brazil (c) Mexico (d) Russia

Food and Agriculture Organization (FAO) is located at
(a) London (b) Rome (c) New York (d) Moscow
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167. Tshishd ATl foehe shrishA (IRDP) < A $9hTS & -

(@) Torem (b) ETIETRE faeh @e
(c) e (d) uREw
168. Y IS % AqH IH IeF (MSP) 1 HER0 HF a1 @ 7
(a) o maTe™ (b) Y TS Fh HeAI HATT
(c) Y ARTA R o AR (d) N 3ITS AT
169. B¢ fhamil Y S a2 ?
(a) U U HI & o (b) Uh W CH gHM & o1
(c) T U gHW s S (d) T THIRAH o=
170. TS =T JET 1 &A1 ¢ 1T A T JYH TSI DA B 7
(a) USE (b) dfEEHTg (c) TERIY (d) i

171. =TSR F1ael AU §EIM (IRRI) Hal W fRa g 2
(a) I (b) IS (c) Tohefiurz= (d ==

172. HH 1 TS T Gsiiehor T § fopteh g fpam S 8 7
(a) TSR e fafeedn grfereston, TrRa TR
(b) IS U 3T WA SHICeh NEES
(c) Y ST STILET T h¥eh HTUHR TR, T TEHR
(d)  heia rmf SHTe Fefifa

173. WA % Tgcl HiY fovaferener 1 Rrer=md gar 4 forg o # fopan mm

(a) 1950 (b) 1960 (c) 1965 (d) 1970
174. WA BT SFFEUM TRTe o IoH TeTew o :

(a) ST 3I.TH. TSI (b) ST TH.UH. T

(c) Sf. &t g (d) S &t fagamy

175. Eiftre (ST oh! Td 71 319 ) el W@ 8 2
(a) TSI (b) STSHeA OB IESED (d ®=F

176. e Td Hi¥ TS (FAO) T GEITeTd el & 7
(a) &= (b) T\ (c) (d) wiEn!
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177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

The number of agro-climatic zones under National Agriculture Research Project (NARP)
in India are

(a) 127 (b) 146 (c) 152 d) 164

Heat transfer into the soil takes place mainly by
(a) Conduction (b) Convection (c) Radiation (d) Diffusion

Anaerobic environment in paddy field is responsible for gaseous loss of nitrogen fertilizer by
(a) Ammonification (b) Denitrification (c¢) Volatization (d) Nitrification

Fog, dew, mist, rain etc. occur in the layer of
(a) Thermosphere(b) Mesosphere (c) Stratosphere (d) Troposphere

The critical period of weed control in upland rice is
(a) 15-20DAS (b) 20-25DAS (c) 25-30DAS (d) 30-35DAS

Furrow irrigation method, compared to other surface methods of irrigation, saves water to
the tune of

(@) 10% (b)  20% ) 30% d)  40%

Water requirement of crops is equal to

(a) Consumptive use + Application loss + Water required for special purposes
(b) Consumptive use + Application losses

(c) Consumptive use + Water needed for special purposes

(d) None of these

The most resistant crop for water logging areas is :
(a) Maize (b) Urd bean (¢) Rice (d) Sugarcane

Physical condition of the soil resulting from tillage is known as
(a) Tilth (b) Pulverization  (c) Friable (d) None of these

Gate-way of monsoon in India is known as
(a) Tamil Nadu (b) Kerala (c) BayofBengal (d) Arabian Sea

Crop weed competition occurs for the

(a) Nutrients (b) Water (c) Light (d) All of these
Irreversible increase in size or weight of plants is known as
(a) Development (b) Growth

(c) Growth & Development (d) None of these
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177. TEH BT JTHLH TRESHT (AT9) R IRA Y 1 feha B Sreramaeia &= 3 afer /e 7
(a) 127 (b) 146 (c) 152 d) 164

178. 1fir H IoAT <51 JaTE JEId: 39 T3 g BT 8
(a) TaATESHE (b) WA (c) Taferm (d) faaxo

179. STTHH €T % ©d H T 39tk 1 b F5raT g1 19 & 9 H JhAE BT 8 7
(a) AR (b) ISR (c) TSR (d) TR

180. €41, 3T, F&U, a9 3eTfe aTaTaRer 6 fhe Tag H gt 8 7
(a) dTIHUSH (b) HHUSA (c) HHAIHISH (d) avHsd

181. foHT Tt WTE (3T9AvE) aTet & | o H WadaR =i o forw it Ao ama : g 7

(a) SIS o 15-20 fe =re (b) SIS & 20-25 fe wTe
(c) SIS o 25-30 fet =re (d) g % 30-35 fer wTe

182. e (W) f=s fafy § o= wad femg faferi i qorn | forat arh 61 o= g1t 2
(a) 10% (b) 20% ) 30% d)  40%

183. ®Hc! ! e e 4 & fopres sUs a1l 2 7
(a) 1.3, + Tltehe g BT + o 3ewa o fordt weht
(b) .9, + TAThIH G ETHAT
(c) #, + oo sewar & ford urht

(d) TTH 9 HE TR
184. ST WS 9T & § Hed Uil v 2

(a) wem (b) 3% (c) M (d) =
185. SIATS o TS fF % wifceh gen I FTHad B ?

(a) feew (b) UAEUERHE () Ml (d) T HHE TG
186. WA H A-EI HIGR P H & ?

(a) dHEHTg (b) HA (c) STARTE (d) NG HFR
187. HIA-EIUAER Jfqeqe fheeh foru gt & 2

(a) UIYhad (b) (c) ST (d) ZJEad
188. HieN T 3Tehfa A1 W H 1IN S@l i 11 had & 7

(a) foepm (b) g () Fguafamm (d) FHEAHE T
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189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

Photosynthetic rates are higher in the

(a) CA4plants (b) C3plants

(c) CAM plants (d) C3and C4 plants
Medium range weather forecast is valid upto

(a) 3-10days (b) For more than 10 days
(c) 24 hrs to less than 3 days (d) None of these

A day is called a rainy day when rainfall recorded is
(a) lessthan 2.5 mm (b) more than 2.5 mm
(c) more than or equal to 2.5 mm (d) more than 2.0 mm

Fertigation is a process in the following type of irrigation :

(a) Sprinkler (b) Surface (c) Drip (d) Centrepivot
When crops are unable to absorb water from soil even when water is available, it is called :
(a) Apparent drought (b) Meteorological drought

(c) Physiological drought (d) None of these

Which of the following is placed under low clouds ?
(a) Altostratus (b) Cirrus (c) Nimbostratus  (d) Altocumulus

The most critical stage for irrigation in wheat crop is :
(a) Crown root initiation stage (b) Tillering stage
(c) Heading stage (d) Milking stage in grains

Which state ranks first in rice production in India ?
(a) West Bengal (b) Punjab
(c) Madhya Pradesh (d) Andhra Pradesh

Panicle initiation is the critical stage of which crop ?
(a) Wheat (b) Maize (c) Paddy (d) Bajra

Plants having underground stem is called as
(a) Rhizome (b) Stolen (¢) Roots (d) Tubers

Phalaris minor is an important weed of
(a) Rice (b)  Wheat (c) Maize (d) Mustard

Zero tillage has been popularized in which of these cropping systems in India ?
(a) Rice — Wheat (b) Rice — Sugarcane
(c) Sugarcane — Wheat (d) None of these
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189. JehTST GTATUiy <t f=1 # & forgd 31ftrep B 8 2

(a) C47e (b) C3TE (c) CAMTE (d) C3TEC4MNEd
190. weor 37afy Hiaw qafguH fha ama ash Ju g 7

(a) 3-10fE (b) 10 feai @ s

(c) 24T TR 3 feiawm (d) T Y HIETE
191. a1 fe7 36 T 1 hed & <9 39 g # g awi <6l 77 fehTe gt &

(a) 25T awn (b) 2.5 . . a =

(c) 2.5 fo. . =1 3o arfees (d) 2.0 . & At

192. ®ieH = g <t fom=ms 4w a8
(a) W (b) Tag (c) TR (d) Hsfag

193. a1 H 9Tt <Al ITTEHA1 o a6 Hl HE 1 T ST 7 FHL IHT Haeldl & :
(a) IE @I (b) HEHEEHiEE () GRTeIEigEr (d) H AR @

194, =1 1 9 19 91 T 918 11 Sea! o T AT @ ?

(a) 3IMeeded (b) fmwm (c) Ta=eem (d) ITceRYged
195. T <t woet # f=g ht gew 3t shifaes sEwen g

(a) TR STel o feheta &t sraen (b) heTd hi 3T

(c) aTeft 31T 6T 3raen (d) M H Y S hl AT
196. A § =9 3caTed H ford T 1 T8 T & 7

(a) UREHSTA (b) U (c) HEICH (d) 3T 9
197. T G Bt (Uffehat SHfTem) fohd waet sht Ao STaeaT 8 7

(a) T§ (b) TR (c) o™ (d) &
198. fHTd T Aol didl i hal Sl & -

(a) G (b) ¢ (d) e
199. SetfE AT (gHT) 370 & fepureh! Hecaqul TUdan & 7

(a) oM (b)y T (c) TR (d) T

200. JaTs UWed HY (S feersr) Tia o fore woet = | ST fopam T g ¢
(a) “H-TE (b) M-I (c) THI-TE (d) T FE
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